LSQ.A-SST-VD RO EE clesa TOHATSU

Rk - BB
609

SO\

B T
ME |me| ME D
PA+IA | B | SUS304
a5 st Dl d | L |1 ||| hn s BEREASEHE

BH) |fHEMN | g
187151 | LSQ.A-25-14-SST-M16x68-VD 25 M16 92 68 24 | 225 12 12 14 5000 100
187153 | LSQ.A-25-14-SST-M16x108-VD | 25 M16 | 132 | 108 24 | 225 12 12 14 5000 164
187155 | LSQ.A-25-14-SST-M16x148-VD | 25 M16 | 172 | 148 24 | 225 12 12 14 5000 228
187157 | LSQ.A-25-14-SST-M16x168-VD | 25 M16 | 192 | 168 24 | 225 12 12 14 5000 260
187251 | LSQ.A-32-14-SST-M16x68-VD | 32 | M16| 92 | 68 | 24 | 225 15 | 12 | 14 7000 | 104
187253 | LSQ.A-32-14-SST-M16x108-VD | 32 M16 | 132 | 108 24 | 225 ] 15 12 14 7000 168
187255 | LSQ.A-32-14-SST-M16x148-VD | 32 M16 | 172 | 148 24 | 225 15 12 14 7000 232
187257 | LSQ.A-32-14-SST-M16x168-VD | 32 M16 | 192 | 168 24 | 225 15 12 14 7000 264
187351 | LSQ.A-40-14-SST-M16x68-VD | 40 | M16| 93 | 68 | 25 |235| 17 | 12 | 14 | 10000 | 109
187353 | LSQ.A-40-14-SST-M16x108-VD | 40 M16 | 133 | 108 25 | 235 17 12 14 10000 173
187355 | LSQ.A-40-14-SST-M16x148-VD | 40 M16 | 173 | 148 25 | 235 | 17 12 14 10000 237
187357 | LSQ.A-40-14-SST-M16x168-VD | 40 M16 | 193 | 168 25 | 235 17 12 14 10000 269
187451 | LSQ.A-50-14-SST-M16x68-VD 50 M16 95 68 27 | 255 ] 19 12 14 10000 115
187453 | LSQ.A-50-14-SST-M16x108-VD | 50 M16 | 135 | 108 27 | 255 ] 19 12 14 10000 179
187455 | LSQ.A-50-14-SST-M16x148-VD | 50 M16 | 175 | 148 27 | 255 ] 19 12 14 10000 243
187457 | LSQ.A-50-14-SST-M16x168-VD | 50 M16 | 195 | 168 27 | 255 ] 19 12 14 10000 275
187581 | LSQ.A-60-14-SST-M16x68-VD | 60 | M16| 104 | 68 | 36 |345| 24 | 12 | 14 | 14000 | 125
187583 | LSQ.A-60-14-SST-M16x108-VD | 60 M16 | 144 | 108 36 | 345 | 24 12 14 14000 195
187585 | LSQ.A-60-14-SST-M16x148-VD | 60 M16 | 184 | 148 36 | 345 24 12 14 14000 255
187587 | LSQ.A-60-14-SST-M16x168-VD | 60 M16 | 204 | 158 36 | 345| 24 12 14 14000 280
187591 | LSQ.A-60-14-SST-M20x110-VD | 60 M20 | 151 | 110 41 | 385 | 24 15 14 14000 374
187593 | LSQ.A-60-14-SST-M20x150-VD | 60 M20 | 191 | 150 41 | 385 | 24 15 14 14000 | 405
187595 | LSQ.A-60-14-SST-M20x170-VD | 60 M20 | 211 | 170 41 | 385 | 24 15 14 14000 | 440
187597 | LSQ.A-60-14-SST-M20x210-VD | 60 M20 | 251 | 210 41 | 385 | 24 15 14 14000 505

e e e b o B o e e e e e e e e e e A N e e e e

i S m T EaES
- AR -30°C~100°C

187151
[sp. EE3 3

- FHRAL 5005 85 PARLRK, > RF& FDA 1RZE(FDA CFR.21 A EU 10/2011) » &
BRemTE  AERAARNEmSE > BRES

(WA PEF)

- MRBBLREXFBEGE > DJESERRERE

- BIIIEERR RS o M (IR FRAER B4 - 5P BT

RIERERIEE



